07800_E EZE DIN 705 , 5540, E B WA

Rost] P i
frei
STAINLESS STEEL *j’*;l_ :
T 1.4305,

< A
st

BERET
1)D1 275, B MELSH,

® 03
e —
o sk . 2
$ - |
= %)
B
"5
3 ]
T /
DZh13 AB/'SM‘
1
07800-300302 E TEW 3 5 7 M2x3
07800-300402 E TEN 4 5 8 M2,5x3
07800-300502 E &N 5 6 10 M3x4
07800-300602 E TN 6 8 12 M4x5
07800-300702 E TEN 7 8 12 M4x5
07800-300802 E TEW 8 8 16 M4x6
07800-300902 E TEN 9 10 18 M5x8
07800-301002 E &N 10 10 20 M5x8
07800-301102 E TEHW 11 10 20 M5x8
07800-301202 E TEN 12 12 22 M6x8
07800-301402 E THW 14 12 25 M6x8
07800-301502 E TEN 15 12 25 M6x8
07800-301602 E TEN 16 12 28 M6x8
07800-301802 E THEN 18 14 32 M6x8
07800-302002 E TEN 20 14 32 M6x8
07800-302402 E THW 24 16 40 M8x12
07800-302502 E TEN 25 16 40 M8x10
07800-302602 E TEN 26 16 40 M8x10

© norelem www.norelem.com



07800_E EZE DIN 705 , 5540, E B WA

07800-302802 E TN 28 16 45 M8x12
07800-303002 E TEMN 30 16 45 M8x10
07800-303202 E BN 32 16 50 M8x12
07800-303502 E TEMN 35 16 56 M8x12
07800-303602 E TEN 36 16 56 M8x12
07800-303802 E TN 38 16 56 M8x12
07800-304002 E THEMN 40 18 63 M10x16
07800-304202 E TEN 42 18 63 M10x16
07800-304502 E TN 45 18 70 M10x16
07800-304802 E TEN 48 18 70 M10x16
07800-305002 E TEMN 50 18 80 M10x16
07800-305202 E TEM 52 18 80 M10x16
07800-305502 E TEHEN 55 18 80 M10x16
07800-305602 E TN 56 18 80 M10x16
07800-305802 E TEN 58 20 90 M10x16
07800-306002 E TEMN 60 20 90 M10x16
07800-306302 E THEMN 63 20 90 M10x16
07800-306502 E TEN 65 20 100 M10x20
07800-306802 E TN 68 20 100 M10x20
07800-307002 E TEN 70 20 100 M10x20
07800-307202 E BN 72 20 100 M10x20
07800-307502 E TN 75 22 110 M12x20
07800-308002 E BN 80 22 110 M12x20
07800-308502 E TN 85 22 125 M12x25
07800-309002 E THEMN 90 22 125 M12x20
07800-310002 E BN 100 25 140 M12x25

© norelem www.norelem.com



